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B1 HEESEEHhIR(Bathtub Curve)

A = x2(x,v) / (2N-AF tstress)
where:

x=(1-C.L.)and v = (2r+2)
C.L. = Confidence limit

r = # of rejects

N = Total sample size

AF = Acceleration factor
tstress = Total stress time

%?(x,v) = Chi Square at (x, v), from Chi Square tables

(Reference JEP001-3A)

B2 JEPOO1-3ARERPMREIGVETEN

Test chip
Test Hours(T.H.) 1000 Hours
Sample Size(S.S.) 7 ea
Normal operating temperature 55 °C
Siressed temperature 125 °C
Normal operating voltage 3.3 "
Stress voltage 3.63 V%
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CDF(Cumulative Distribution Function)s
AR R KR Rk BRI ET E (A
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F(t) = 1 - exp(-At)
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B3 BESAENEREE
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Item Condition1 \ Condition2 l Condition3 Unit

Test Hours(T.H.)

Sample Size(S.58.) 231 77 160 ea
Normal operating k,
temperature = - o ¢
Stressed temperature 125 147 130 °C
Normal operating
voltage 1.8 1.8 1.8 v
Stress voltage 1.98 1.98 2.07 \
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